
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

OP6708-02 07.01 op601gg K38 01-JUL-02

Engines GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  OP6708-02 Oil Pan  Lube oil pump tubing required...(More)

     for rear center sump oil pan

     and high capacity (subbase

     type) oil pan, with lube oil

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('op601gg','/rtgraphics/english/parts/op/6/op601gg_sm.png');
javascript:swap_img('op601gg','/rtgraphics/english/parts/op/6/op601gg_md.png');
javascript:swap_img('op601gg','/rtgraphics/english/parts/op/6/op601gg_lg.png');


     filter mounted on left bank.

1 3032397 Lubricating Oil Suction Tube 1  

2 S 112 Hexagon Head Cap Screw 8 3/8 - 16 X 1 in.

3 S 121 B Hexagon Head Cap Screw 2 7/16 - 14 X 2 1/2 in.

4 103023 Hexagon Head Cap Screw 8 7/16 - 14 X 1 in.

5 109319 Lock Plate 2  

6 151355 Lock Plate 8  

7 3000632 Connection Gasket 1  

8 3026392 Rectangular Ring Seal 2  

 3031385 Pressure Relief Valve 1  

9       107695 Roll Pin 2  

10       127316 Plain Washer 1 5/8 in.

11       3001719 Straight Pin 1  

12       3026925 Oil Transfer Connection 1  

13       3026926 Compression Spring 1  

14       3026927 Pressure Regulator Plunger 1  

15 3035001 Lubricating Oil Transfer Tube 1  

16 S 172 B Hexagon Head Cap Screw 1 3/8 - 16 X 1 1/8 in.

17 S 217 Heavy Hexagon Nut 2 7/16 - 14 UNC.

18 S 604 Lock Washer 7 3/8 in.

19 S 610 Lock Washer 2 7/16 in.

20 S 622 Plain Washer 2 3/8 in.

21 3031544 Rectangular Ring Seal 1  

22 3031989 Tube Clamp 2  

23 3031998 Oil Tube Bracket 1  

24 3033929 Oil Tube Bracket 1  

25 3201128 Regular Hexagon Nut 4 3/8 - 16 UNC.

26 108330 Plain Washer 7 3/8 in.

28 3628402 Oil Tube Bracket 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 



Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

